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Candidates are required 10 give thetr
answers in their own words as far

as practicable.
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indicate full marks.

15 minutes of extra time have been
allotted for the candidates to read
the questions carefully.

This question booklet is divided into

two sections — Section-A and
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W'lm*wm*,
w:l!m.rmf'

ISv}]. as
of 1which only one ig correct. You have 1o

¥ 35 queations 35 - i =35
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€ g R

Ari] is cdible in which of the following fruits 2

(A) ﬂfyﬁsflbﬂ 4B) Litchi
() Annonqg (D} All of these
SO, FET & guw &
(A) e (B) =
(C) wa% D) W | mi
Indicator of SO,, pollution is |
(A)  Algac (B Lichen
(C)  Fungi (D) All of these
V6% & o i et § 2 |
(A) TR AYAeE (B) TR Ay
(C) T Hyweh D) (A) &R (B) T
Honey is made by .
(A)  Male honeybee - (Bl Queen honeybee

(@ Worker honeybee (D) Both (A) and (B)
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freifad H F

N (B)
(

© ) 3R @) D) e
which diseasc is found in hen ?

(A)  Cholera B smar

(C) Both (A) and (B) (D) Renikher

ﬁﬁ@g}mwm%ﬂwﬁa%mﬁﬁmmé?
W (B) &Rl

(C)  fersmoy (D)

The flour of Idli and Dosa jg made by the use of which microbe ?
(A) Bacteria (B) Lactobacillus
(€} Virus - (D)  Yeast

CUICIE RE el S — g7

(A) TR (B) Wy

C) EFF (D) 99 T R
Agarose is extracted from

(A) Maize (B) Sea weeds

(C) Cycas ' (D) None of these
A Hige foma st fimar o7 2

(A) T T (B) e

(©) SR AU A (D) ¥ A HK T
Operon model was proposed by |

(A)  Watson and Crick . (B}  Nirenberg

yl Jacob and Monad (D)  None of them
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11.

uia g &
(A) WA w)

) laspa wd)

Fcehidna s

A} Connecting link

(€C)  Extincet link

AL R

(A) Fﬂ"viﬁ WA
(C) INraTE Wl

Dodo is

(A) Extinct species

(C)  Threatened species

[EER ER g S,

Which of the following is a diploid structure ?

(A) 3T
(C) I
(A) Ovum
(C) Zygote

= 4 @ 9 dr wieikhi € 2

(A)  faarer
(C) ¥ivIy

Which onc is hydrophytic plant ?

(A) Trapa
(C)  Dalbergia

()

()

(H)
(D)

(B)

(D)

(B)
(D)

(B)

(D)

(B)
(D)

(B)

(D)

(B)
(D)

sy ¥}

3O oy g

3 A

Vestiginl organ

None of thege

Uz gt

Endangered species

None of these

oTarY
=9 g |

Endosperm

All of these

ANTEA
TSI

Opuntia

Acacia
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13.

14,

15.

Htedl BT it st

(A e (B)  mtyry
(C) siEgvm §

D) g §
Sertoli cells are found ip
(A)  Testis B U

terus

C O
(C) vary- (D) Liver
T (909) 3 Torgst 3 e
A
(A) 44+ xx (B) 44+ xy
(C) 46+ xy (D) 46 + XX
Number of chromosomesg In human being (male) is
(A) 44 + XX (B) 44 + xy
€ 46+xy D) 46 + XX
IS ECEE fos g — 4 safem ¥ )
(A) 3™ (B) . oRem s
(C) I Wy D) &R

Rhino sanctuary is located in which state ?

(A)  Assam ' (B)
(C)  Uttar Pradesh (D)
ﬁmﬁﬁﬁqmﬁﬁ#aﬁaﬁqﬁ?ﬁ% ?
(A) Y | (B)
c) fewfe D)
Which of the following is not a viral disease ?
(A)  Mumps (B)
(D)

(C)  Diphtheria

West Bengal
Bihar

e
afsew

Inﬂucnz_a;?

Measles’
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Fro=fafaa 1 W uepures 3 afinfer o 8 o

(A) g mer (1) g ey
(D) wErn g
Wwhich of the following in not included in animal husbandry 9

(A) Bee-keeping (B)

(C) g

Poultry farming

Organic farming

frefefga o Tt deiy TgshiEAee @ 7 ¢ 2
(A) a%ﬂw (B) o Blo FARHA
(C) WHA e

(C)  Fish farming ()

(D) T HiE@

Who among the following is not related with microbiology ?

(A)  Louis Pasteur -~ (B) J.D.Watson

(C)  Stephan Hales (D)  Robert Koch

e e g S 2

A) UH-IRTAT F B) -IRGTH

€ IR-SRET D) - T Y B
Anticodons are found in ' -

(A) m-RNA (B) t-RNA

(C) ~-RNA

, (D) None of these
Ted 7 wfquifed feman -

(A)  GEeTdr o g
(©) {A) 3R (B) It
Mendel proposed

(A) Law of linkage
(C)  Both (A) and (B)

(B) AR =1 fam
D) T | &

(B) Law of inheritance

(D) None of these
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23.

yererRvl & gl F N T FHA & ?

() sonfaar @ frm . (B) A ey o e

©) el @ S @ fan D) T

Law of segregation is also known as

(A)  Lawof don.nnancc (Bl Law of independent assoryy,
(C)  Law of purity of gametes (D)  None of these by
Tt rstiferal o fRioT &1 et e

(A) i (B) SwRa

(©  faerm D) PR fafamr

Which of the following factors is important in the formation of new specics ?
(A)  Competition (B)  Mutation

(C)  Isolation (D)  Continuous variation
I o g &

(A) Co, (B) Hy

(C) CH, D) ¥ 4 gyt

Biogas contains

(A) CO, (B} Hj

(C) CH, (D)  All of these

ShifeT-3Mter o s H glaT & 2

(A) TRRH (B) WRIHTEARTS

(C) UehleH (D) SEEIESIRE

In which stage does crossing-over take place ?
(B) Cytokinesis

(A) Leptotene
(D) Diakinesis

(C) Pachytene
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(A) HIV &1 |
3 By »yy 1t
(€C) &I -
PCR is usced to deteey (I P 5
A) 1V
(C)  Cholera B) g
. (D) Cancer
5. Wsﬁﬁamqﬁﬁm@@mm ’ |
_ ST 81 79 V1 1 Fed 7

(A) S \

(B) WA
C) o=

D) w9 F ot
Every living e

& cell of plant Can give rise to the whole plant. This property 1%
known ag
(A)  Cloni
: e (B)  Somaclonal
(C) Tmipotency (D)  All of these
26. aﬂﬁﬁsﬁﬁtﬁ%wﬁwﬁ o

(A)  n | | E !(B] .
© 3n D) (&) 3R (c) I
What is the ploidy leve] of chromosomes in endosperm of angiospermic plant ?
W n B) 2n
(C)  3n

(D)  both (A) and (C)

27. TS WA Sl Thet S 310 2§, 79 98 s T 2
A) s s (B) 3T S99
(€  (A) 3R (B) I (D) 3fieiE ftem

When offspring is formed by single parent, it is called as

(A) Sexual reproduction

(C) Both (A) and (B)

(B)
(D)

Asexual reproduction

Internal fertilization
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30.

31.

e graent F UG @) e 9 g € ?

(A) 21 (B) 23
(C) 44 (D) 46

What is the number of chromosomes present in’human gametes ?
(A) 21 (B) 23

(C) 44 (D) 46

$RTY & urefifafes o wrar wer &

(A)  wrEeifed v umafim (B) AN T A

(C) weifE wd qifger (D) oI wE e

Pyrimidines present in RNA are

(A) Cytosine and Thyminc (B) Adcnine and Guanine
(C) Cytosine and Uracil (D)  Thymine and Uracil
giuer GEieim et w1 SugiT e o 78 aar & o

a) fewifear B) uFfEw

(C) CORHE | D) W

Triple antigen vaccine is not used for

(A) Diphtheria (B)  Pertusis
(C)  Typhoid |

=1 o &9 ARy A9 78T § 2
e (B) TARIFARIBEA

(C) e SRHATRES (D) ARZNH

Which of the following is not a greenhousc gas ?
(B) Chlorofluorocarbon

(D) Tetanus

(A)

(A) Mcthane

(C) Co, (D)  Nitrogen
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33.

34.

35.

MR- T W 2

© e fay O)  HfsumE & fen
Kanhg National Park ig famous for

(A) Birdg (B)  Tigers

(C) Rhinocergg

(D)  Crocodiles

B) E&, T IR =™

el 3R FHd
N N (D) =, o

Which of the following is the correct food chain ? d Grass
(A) Grass, Wheat ang Mango (B) Goat, Cow an d Goat
(C) Grass, Goat ang Lion (D) Crass, Fish an
feertee &

(A)

AR + T o I 3
(C) ?E@Glﬁﬂ'tﬁa‘qﬂﬁ@ﬁr

Nucleoside is

(B) ‘QII'[I+‘Ch:l'Ga?E
D) T A HIE &l

t
(A) Sugar + a nitrogenous base ~(B) Sugar + Phosphate
(C)  Nitrogenous base + Phosphate (D) None of ‘;hese

e fmior & wea ¥

@) R B ST

€ WRRTEE

D)  FHJ HE 77
The process of formation of gametes is called

(A) Gametogenesis (B)

(D)

Cytokinesis
(C)  Sporogenesis

None of these



36.

37.

38.

39.

TR Uy &

(A)  TERIfRTS
(C) RIS

Restriction ¢nzymes are

(A) Exonuclease

(C) Ligasc
U I 5 e o o 3
A) R |

(C) uRfeufost dx 5

(B)

(D)

(B)
(D)

(B)

(D)

In National Park, protection is provided t;)

(A) Flora
(C)  Ecosystem

%?ﬁﬂaqmmmww&m%?
(A) ERUEED
(C) HRERY

Secondary productivity is related to

(A) Producers

(C) Carnivores
URERIESIE H T R §
(A)  SHaeT QY HI

©  fi of w7000 W

Pastcurization is heating of
(A) milk only
(C) any liquid at 70°C

(B)
(D)

(B)

(D)

(B)
(D)

(B)

(D)

(B)
(D)

. rl : il \lisl

Endon Ucleage

P Olymerage

BT 3
(A) &R (B) I

Fauna
Both (A) and (B)

YHBRT
FH § IS 1@

Herbivores

None of these

ferdl ot W B 100°C F IR
T Q@ FE T

any liquid above 100°C

none of these
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(A -3t ) fgrim

C <

€ Fwy () =g-zain

The wall of pollen grain is

(A) Singl

A glcllﬂycmd (B} Double layered
Plc layered (D)  Multi-layered

TR e gy 3

A IRy ? B) WA

€ ormE ¥ ) ¥Fa R

T-lymphocyte originates from

(A) Bone marrow

(B) Stomach

(C)  Thymus (D) Liver
EcoR] QTﬂET-'I' 1 A %
(A)  Bam H1 (B) | E.coli

(©)  (a) 3R (B)

(D) Hind111
Source of EcoRI enzyme is

(A)  Bam H1 - _AB) E-coli
(C) Both (A) and (B) (D) Hind111
1 9 aF R g A daem w0 o S e ¥ 2

a) e

(B) TRET
(C) TS HIRwH o) fdes ==
Which one forms endosperm after fusion with male gamete ?
(A) Oospores (B) Antipodals
(C) Syncrgids (D)  Secondary nucleus
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46.

@ aculeda 1) vt Q wi ah

One gene pair hidox the effect of 0 i
? \ another gone pair, Ty o
I + Thin phenome
‘i * nun [' .

A) pintasi
i pintasis (13) Dominanee

& Mutati
) utation . (D) None of these

i
i

EEREIE UG I T R S s Y AV 3G lh'm‘
s ¥, W W wE ¥ ) |

W b - B) - HG

€) TRwem (D) WG HIOH

A sequence of three bases on tRNA which binds to mRNA codon is
(A)  Triplet (B) Non-sense codon

(C)  Anticodon (D) Termination codon

afeat SRRt S areHt H wTEeiar T ¥ET SR 8, W OEE w2

TR s (B) i
fawmo (D) T

(C)

The group of Wucheréria bancrofti which causes filaria in human being is
(A) Protozoa (B) Bacteria

(C) Virus (D) Helminth
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47. STERIEET B QWi m v b el < st e b ?

48.

49,

50.

A)
A S | W
C
(ST i (D) AT
Which orgun of the body is most affected by cxcessive intake of alcohol ?
(A) Lungs

(B]  Liver

(€)  Spleen (D)  Stomach

ST & fram 1w s &

W e (B) g
An exception of Mendel's law is

(A} Dominance (13) Purity of gamcelce
(C) Linkage (D) Independent agsortment
=1 A | A giE a2

(A) CHEEES B) &N

C TR | p) fawied

Which of the following is a sexually transmitted discasc ?

(A) Typhoid (B) Cholera

(C) Malana (D)  Syphilis

Fr o § S el WY E 2

(A) ST ‘ B) AT

© @3W@IA (D)  EmEfger

Which of the following is/arc inscctivorous plant(s) ?
(A) Drosera (B) Nepenthes
(C) Both (A) and (B) D)  Hydrilla
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FEst a3 ey awafind wimd 2 o

A if} ;
A 13) i

(©) (A) BIR (1) el D)
Out of the following which
(A) Hen

(C) Both (A) and (B)

onc is hermaphrodite Organism 7
(B)  Snake
[D(V Earthworm

52, a‘ﬁh‘arhr:;ﬁ@w% )
(A Ve .
(B)  SIEm]
(C)  Uieistan .
(D) TSt BV iy
Chlorella is a type of
A yo
A Algac (8]  Bacteria
(C) Protozoa (D)  Single cell protein
°3. RSN AEM ¥ e waer ) a9 § )
A) Al ' (B) WM
(C) HMH (D) v
'Cry-genc' prevents which crop from bollworm ?
[)} Cotton . (B) Tea
(C) Mango (D)  Wheat
54, AU d FH- GRA ST § ?
(A) TS 3R Qe (B) WM 3R U
() UHAR 3R A (D) ¥ 4 HIE TE
Purinc bases of DNA arc
(A) Adenine and Cytosine (B)  Cytosine and Thymine
(C) Adenine and Guanine (D)  None of these




W %’l

BT sy g AR

Ay dam) g B) R gy

(C) (A) 3l (B) = (D) %% 4 w1t ag
Cancer iy caused by

(A) Bacteria , (B) Oncogenes
(C)  Both (A) and (B) (D) None of these

5. YA T e uya ¥ 7

(A) Al TS (B) T T
€© (a) &R B) I (D) T § =%
Which one of the following is possible in micropropagation ?
(A) Ascxual reproduction (B)  Sexual reproduction
(C)  Both (A) and (B) (D) None of these

57. HEHE OF @l e E 2

A w=EH B) R A
© TR . - O Fwhd
Menstrual cycle occurs In
(A) Human (B) Monkey
{Cy Chimpanzee (D}  All of these
S R RER R R
W) e | B) IR §
) @I @I D) T A ®E 76
Binarny fission occurs in
i‘}}_, Amoeba B) Paramecium

i1t Both {A) and (B) (D) None of these
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59, ﬁ@qmnm}q wt,ogmquﬁifaﬂgﬁ, 8

(Al 64 (T
(C 85 o 32
In a DNA molccule, the cytosine 18 18%, then the pereentage Orad?ﬁir;_,_
(A 64 (B) 36
() 85 o 32
60.  TSTer wiheqor forrat oz & forw ot i1 & 7
(4) TR (B) oe
€ usH p) FH
Widal test is‘ done to confirm
(A)  Malaria (B) Typhoid
(C) AIDS (D)  Cancer
61. HIV T 1 frg Fifvrer | amsmor & ¢ 2
&) BT (B)  T-SHIreTE
(C) Firfere Sifvrer (D) T2 THIlvTeRT
HIV attacks on which of the following cells ?
(A)  B-cell (B)  T-cell

/ ,
(C)  Epithelial cell (D)  T-helper cell

62. U e fmh ufe uferen smfrar gidi 2, 3% wed &

(A) e (B) i
(c) woemEiE D) TH

The substances to which an immune response is produced, are called

(A)  Allergens (B)  Vaccines

(C)  Antibodies (D)  Antigens




.3. Qia.\-ﬂr.
> e 'ill]!ﬁm—\a@ TR ¥
(A)
F"Q’lﬁ:{q (13) hﬂ.‘r!“”-'l
(C)
(A) 3 (B) g 0y T=TM Y SRR
Chcrmcal releaseq duce 1o allergy ig
(A .
{C)) Histamine (B)  Serotonin
Both (A) ang (B) (D)  None of these
4. AW Tirgey TR ey o
(A) ?ﬁ?wﬁ?ﬁw_ B) W = wwaeH
© S 1 Y D) <9 = baee
What doeg OPeron model represent ?
(A) Gene Synthesis (B) Gene expression
[9}, Gene regulation '

(D) Gene function
65. ﬁwﬁﬁmmwm% ?
W e
(C) e

Thalamus is edible part

(B) A=
D) T Qs

in which of the following ?
(A) Annona

: | Bl Apple
(C) Orange (D) All of these

6. ST et o < o st e & o
(A) S

B YRiEwEw
©) () AR (B) W D) T I = W@
DNA is genetic material of
A)  TMV . AB) Bacteriophage
(C) Both (A) and (B)

(D)  None of these



67.

68.

69.

70.

(A)  uwfipiy ) eI
€ glsiy )

Flow of :
energy in food chain of an ccosystcm 19
(B)

(D)

geril 4 IS A

(A) . Jircctional
Umdlmcmmm " f these
Nonc of thes

(C) Mullidircclional'

8 e v A g 2 7
WW

(A) am}g}gm B)
(C)  srwEr (D) Wi@?%w

Which of the following is not a biofertilizer o -
(B) Bacillus thunngiensis

(A) Azotobacter

(€ Azolla (D) Clostridium
& I T kT eer: g gRT AT & 7

(A) ST B) &

(C) e (D) I
Tuberculosis is transmitted by

(A) Water (B) Air

(C) Insect (D)  Contact
S Ruaex srpeperad aRkRafa & @ Fmi e € 2

(A) SR B) g

() e Dy 39 & |

Bio-reactors in optimal conditions produce
(B}  Organism

(A)  Product
(D)  All of these

) Medium
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Y Iy V¥ / Bhort Anawer Type Quesntion,

ﬂ##@w.lﬁxmnﬁqawﬁv#'rﬁmﬂ.u:mm?%:mv& | SR % frrr o s

ﬁmﬁﬁ#: 10 % 2 = 209
O”c,,-:iun Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each question
carries 2 marks : 10 72 = 2g
T & FE @ g

1./’ 2

V\/Iritc the functions of blood.
o, TS I T 2 T et &1 avi

)hat is global warming ? Explain its effects.

350 TG OR] TR e ¥ )

What is test-tube baby ?
4, 1ﬂmm%a&MY%qﬁﬁw%maﬁ@aqaﬁaﬁqaﬁl
Describe the ecological adaptation of xerophytic plants.

“GEg o ZafheH &1 goiT Y |

[¥2]

_Describe transcription in brief.
6. RIS (3o <) a1 i Fereror S w6t
\ /E»p’t'ain Biopiracy in bricf._ |
7.,,§@ﬁ§ﬁamamékawﬁﬁﬁﬁm§n

’@: reasons for success of Mendel.



g, g 3y ufed ) afpafivet w1

)

agn % s ferd 7l o & t“h‘

Define Coupling and Rc;m]sitm.

9.  DNA wfirssfin & foy susva® figre

fafere @ w1 wvl &

d1ar o

ic enti
Name any two enzymces required for DNA replication ;nnd ““ NUon one 4y, '“‘

function of cach of them.

10, WA w e > 7 fafu

What is micropropagation ? What are the main advantages of producing giy *

through this technique ?

1. el & qEROTH! &1 qUH

Describe the ill effects of alcohol.

12, areaTte YRRET T e el |

mmﬂ%mﬂﬁw‘q@?ﬂ“mﬂﬁ?

Comment on Innate immunity.

13, WioTHo3fle T W el

Throw light on G.M.O.

14, nmasimmamawmmrwqémmﬁam@

Draw a ncat and well labelled diagram of transverse section of human ovary.

s 4 T g ? 3

WhatTs inbreeding ?

6. FoTEAhER favgm R FEHRT S |

7

Throw light on Klincfelter's syndyc./
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t.
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8 ﬁ-%ﬁmfmﬁzwi’?w“ 1 A m F]
y H U SH ard uiyg = Tz
- TS Y v

What iS bi i i l | g|
Odl\'erSIty ho‘tspot ? W Tite down the names aﬂd Spccl
i ,W 3 % (Jf C
i lw)

such hotspots of India. https://www .bsebstudy.co
bsebs .com
o, el FE 2 T T T
) 3P HRS H AH T T TW AT & TN Fa0H 5

What is Amoebiasis ? Name its causal organism and describe the symptoms of

this discase.
20, U FE 7 T Ol o W W 0 2
What arc allergies ? Describe its symptoms in brief.

e 39 U9+ / Long Answer Typ;a Questions
m#wz:#zsa?a‘aﬂﬁam%rmfsmﬁ*ma‘:ma‘v%t
safﬁﬁufﬁﬁ#fwmlzomﬁﬁﬁﬁmﬁm 3x5=1

nswer Type Questions. Answer any 3 questions. Eac

Question Nos. 21 10 26 are Long A
3x5=1

question carries 5 marks. Give your answer in about 120 words.

21. Wéﬂ%ﬁﬂ@ﬁdﬂ%@'

Wrile an cssay on tissue culture.

22. gﬂﬂﬂﬁ%ﬁﬁﬁmaﬁmﬁaﬂ'ﬂﬁl

cscribc fertilization in flowering plants.

D
et
[ 119 ] G Page 23 of 24
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%mﬁmmuﬁmaﬂhﬁl

Deacl-ibc re

Wy

COmh: i
Mbinant DNA technology i brict

ST 3 il giftfaafaas fraftrg! 1 7 !

25, ‘ three Ccological pyramids with guitablc cxnmplci;.
"R Pt s s f T

IScysg Various metho ds of contraception for the populatmn co

T o gy ?Wﬁmwﬁﬁﬁ@maﬁm

What is nice: f; d.
tis Pisciculture ? Mention its role in enﬂChmem of ou¥

S/

ntrol.

26,

—_—





